H & 0l & AHS B Ml A

SA JIEMAEE 2

3 NEe D" - £F - BoHLESSHE/LeEy)
el NSRS J1E (Gt H2)
SN - B SRA(BH) - HPAY - BES 0 & ol 8 o tmE==T
JIEolate g2t 37,391,256 36,168,922 1,232,334
< 21,000 0 21,000
Al 37,370,256 36,168,922 1,211,334
ANECl D8l - 2F - BOHLES3dE/Leey) 20,914,014 20,337,789 576,225
=S 21,000 0 21,000
Al 20,893,014 20,337,789 565,225
NEge 52 J1E 19,430,112 18,874,887 565,225
ANEHR D18 - =8 679,600 678,600 1,000
201 £er2aY| 134,710 133,710 1,000
01 Ak 2teltl 134,710 133,710 1,000
O=zg=¢ 1,000 0 1,000
oEL - EC|2 2EHYRA BHSY
100,000 10 1,000 0 1,000
OAlZAIZEISE 28 X 18,750,512 18,196,287 554,225
308 AXISHMSOIA 18,301,334 18,147,109 154,225
N SIS U SHAS A 18,301,334 18,147,109 164,225
O==AlEAIZEISEH 230 HE 343l
Z3& 18,301,334,0002 18,301,334 18,147,100 164,225
403 MXISHHSEXZ01N 447,818 47,818 400,000
02 S| 2ASHHBA2 XS A 447,818 47,818 400,000
OW==AlEAIZElESE 280 HE =238l
48 447,818,000 447,818 47,818 400,000
FRAUF MBI & SHZA 142,592 121,592 21,000
= 21,000 0 21,000
Al 121,502 121,592 0
XAl &8Ot 29 142,592 121,502 21,000
=S 21,000 0 21,000
Al 121,592 121,502 0
303 Za= 26,700 5,700 21,000
< 21,000 0 21,000
Al 5,700 5,700 0
01 Z&a3 26,700 5,700 21,000
O2023d (' 223 &) FLESEI L4
MEEAE AR 21,000,000 14} 21,000 0 21,000
= 21,000 0 21,000
N2 (detsSdy/ Ny - HEXH) 1,001,726 944,815 56,911
olateg 2kl 955, 186 898,275 56,911
HEE olatEy 376,561 399,650 A23,089
403 MXITHHMSA=201H 48,472 71,561 23,089
02 SJ|2SOITHEt =X S At Bl 48,472 71,561 ~23,089
OXAItH XISTHE2ACIAAE 2=H =23
23 48,472,000 48,472 71,561 A23,089
SS28384l A& 510,000 430,000 80,000




A J1=oag 2
A NLHE2S (LSS HE/NLHE - THERIY)
el dlatzgael EER=E)
SN - B SRA(BH) - HPAY - BES 0 & ol 8 o tmE==T
201 er23 | 190,000 140,000 50,000
01 At2teltl 150,000 100,000 50,000
o882 XA
& 150,000,000& 150,000 100,000 50,000
202 04l 280,000 250,000 30,000
04 =XIS+0I8] 230,000 200,000 30,000
Ol 2882 s
& 230,000,000 230,000 200,000 30,000
GiiHIel (o8l /oiBI8l) 15,327,613 14,728,415 599, 198
Gll=]1:] 15,327,613 14,728,415 599, 198
Gi]laT 15,327,613 14,728,415 599, 198
801 ofielHl 15,327,613 14,728,415 599, 198
02 XHaH - THH=SH 0B 6,856,799 6,027,828 828,971
O =& oidibl
3& 6,856,799,000 6,856,799 6,027,828 828,971
0B URERE=2 470,814 700,587 229,773
ouEsrE=s &F 470,814,000 470,814 700,587 N229,773




